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(%) fafvam cenenfie sPpR shfdfes wfem =t =01 [Explain the

mathematical formulation of a linear programming problem.]

(}) AT I @, IM @A (AT SREE G T S, I 8
S =8 ©@ @I (T 5AT WGP AL AT G O T
a7 a3 %ﬁ"‘i& ¥ I | [Prove that if the constrain set T of

a linear program is non-empty, closed and bounded then an optimal
solution to linear program exists and it is attained at a vertex of T .]

(F) PTG T IACS & ([@RI? GFPNZACTD T[] ANECE 96
%S WITAGA 39 | [What do you mean by Assignment problem?
Discuss a method for solving Assignment problems.]

(}) @3 o4FH PR I® W2 IF & BREH BFME GO &
fatarz | o = GoE Ty wedR AR (7% BIE) (ed Wt |
[A project consists of four major jobs for which four contractors
submitted tenders. The tender amounts quoted in lakhs of taka are
given in table below.]

IS
A B C D
1 10 2 30 15
foem 2 16 22 28 12
3 12 20 32 10
4 9 26 34 16

Arers Bemare 93t I1w fre Tw, @ Femrce @ aw e
AFEA TG AF6 Paow W@ ©f fAfw 7 1 [Find the assignment

which minimize the total cost of the project, each contractor has to
be assigned at least one job.]

Gomory fractional cut % TR IR fea Eoes ffwma cenanfar
716 A4 T4 1 [Solve the following integer linear programming
problem by using Gomory fractional cut method.]
9 9 [Maximize]: Z=-4x +5x,
¢ 2T [Subject to]: —-3x,+x,<6
2x, +4x, <12
X, X, SAYS %1221 | [are non-negative integers.]

¢ |
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() arF, 5@, G, =i G 9 @B e T R *ET o
5 Dijkstra’s SFEefEMs STl 9 1 [What do you mean by
graph, cycle, tree, spanning tree and network? Discuss the
Dijkstra’s algorithm for shortest path problems.]

(}) fAwme @ BeaER Ty ATz e +9 a3 BT aters oRa =S
A9 fAdf 37 | 37 =S 579 g &A1 A9 39 | [Determine the path

from the below network and shortest path for each case. Also find
the optimal flow.]

Arore o w9 gre [feq fiermn org afs a2 3SR 49n
e = T ave 9T 936 oifiRes e @3 I e
T 7 9 | Togm TG A6 PASHA IR ACH HATOH AfTIZA
Afsegfc fAfa <9 [Find a basic feasible solution of the
transportation problem of which transportation cost per unit of
production from each warehouse to different stores are given in the
following table]:

@73 [Stores] IR

1 |2 |3]| 4|5 | [Supplyl
QYIS 99 Al 4 3 1 2 6 80
[Warehouse] g | 5 | 2 | 3| 4|5 60
cl|3|5]|6]|3]2 40
D|l2]|4]|4|5]3 20
Bifzwt [Demand] 60 | 60 | 30 | 40 | 10 200
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4 2 52

(BT (2 3 1 4| 93 T Jrew wEsfwed 10  oFsferm g
1 6 4 3

T4 | TS (JTTACSE T AW 5F W (FIHEPR G3R (12 T

T ¢ fag A <7 39 1 [Describe Brown’s algorithm for solving

general matrix game. Carry out ten iterations of Brown’s algorithm
4 2 5 2

on the matrix game |2 3 1 4/|. Find the approximate optimal
1 6 4 3

strategies for both players as well as the best available upper and
lower bound on the values of the game.]

(F) wiEAE iR e o w@e ot T @m g/ TEE
I A I R (9?2 [What do you mean by dynamic
programming? What sort of problems can be solved by it and
why?]

(?) a3 IfF =fey 77 T3-RTFw @3 IR TF | 3 500 IFF 4R
Yo QI oW ARGET @ | AfS R sFre @ S @ Tgm
FE G @ AT E12 A w30 1 TeR e R[S R ' @1 500
T ST T A IR TS YR 7@ AN T A0S AN | ASt B
R FHoTE @ ¢ Rerm vwienR 5rer Ae (eat =1 | [A man is
engaged in buying and selling identical items. He operates form a
warehouse that can hold 500 items. Each month he can sell only
quantity that be chooses to stoke at the begining of the month. Each
month be can buy as much as he wishes for delivery at the end of
the month, so long as his stock does not exceed 500 items. For the
next four months he has the following error-free forecasts of cost
and sale prices.]

™ [Month]: 1 2 3 4

@ g W [Cost price]: 27 24 26 28
fa@ra W [Sale price]: | 28 25 25 27

% IS 200 I€T TG AT OE@ AT 5 WA @1 @ siferane faemw
€ TR FAE? TIZAINS (laNifaie 2R I 4 74 | [If he currently
has a stock of 200 units, what quantities should he sell and buy in
the next four months? Find the solution using dynamic
programming.]
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v (F) - @enfi e oW $9-0eR e Se dre 39

@R R AR (ARE 579 Sqga AIKE 37 =1 [Derive the

Kuhn-Tucker sufficient conditions of the non-linear programming
problem and hence find the global optimal solution.]

AfB3at T [Maximize]: f(x)=-x' —x7 - x7 +4x, +6x,
¥R [Subjectto]: x> +x; <16
2x,+3x, <12

X, X5, X320

(¥) fATe= fawrs 7516 ST 39 [Solve the quadratic programming
problem]:
AP 79 [Minimize]:  f(x) = —6x, + 2x7 — 2x, X, + 2x2
*$1R [Subject to]: X, +x,<2

X, x, 20
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